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I

KZP =
0,48

min. 4
max. 5

190ob.
/ha

plochá

KZP =
0,43

min. 4
max. 5

190ob.
/ha

plochá

min. 4
max. 5

190ob
./ha

plochá

min. 4
max. 5

190ob.
/ha

plocháKZP =
0,47

KZP =
0,49

min. 4
max. 5

190ob.
/ha

plocháKZP =
0,47

min. 4
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190ob.
/ha

plocháKZP =
0,5

DPS

min. 4
max. 5

190ob.
/ha

plocháKZP =
0,42

KANCELÁŘE,
SLUŽBY

KANCELÁŘE,
SLUŽBY

min. 4
max. 5

190ob
./ha

plocháKZP =
0,465

min. 4
max. 5

190ob
./ha

plocháKZP =
0,386

= 7 744
m2

= 8 316
m2

= 8 798
m2

= 7 656
m2

= 3 150
m2

= 2 020
m2

= 4 590
m2

= 1 762
m2

= 1 174
m2

= 11 909
m2

= 9 387
m2

= 5 386
m2


